Fee Structure of Class IX & X of Govt. Schools of UT Chandigarh:

1. GOVT. MODEL SCHOOLS for classes IX and X:

Annual Dues	(Amount in Rs.)	
Admission Fees	12	
Excursion	62	
Magazine	50	
Building	15	
Sports	25	

Monthly Dues	(Amount in Rs.)	
Tution Fees	37	
Stationery Fund	20	
Amalgamated Fund	25	
Health Fund	6	
Audio Visual Fund	6	
Red Cross Fund	7	
Child Welfare Fund	7	
Science Fund	7	
Work Experience Fund	10	
Cycle Fund	2	
I.T. Fund	25	

Important Note:

- No tuition fee is charged from Girl students
- No tuition fee is charged from SC boys .
- All funds monthly and annual charged half from SC Boys & Girls.
- No tuition fee is charged from OBC Boys, wards of Ex-servicemen, Widow and Physical challenged with parental annual income less than 1.5 Lacs.
- Advantage is to be given only if all the certificates are there.

2. Govt. Non Model Schools:

i) IX Class:

	General Category		SC Category	
Name of the Fund	Boys	Girls	Boys	Girls
Annualy Fees	in Rs.	in Rs.	in Rs.	in Rs.
Excursion Fund	12.00	12.00	12.00	12.00
Building Fund	15.00	15.00	15.00	15.00
Sports Fund	7.00	7.00	7.00	7.00
Stationery Fund	25.00	25.00	25.00	25.00
Admission Fees	5.00	5.00	5.00	5.00
TOTAL Annual Fees	64.00	64.00	64.00	64.00
Monthly Fees				
Tution Fee	15.00		-	-
Amalgmated Fund	12.00	12.00	6.00	6.00
Red Cross Fund	2.00	2.00	1.00	1.00
Child Welfare Fund	2.00	2.00	1.00	1.00
Audio Vidual Fund	2.00	2.00	1.00	1.00
Health Fund	2.00	2.00	1.00	1.00
Science Fund	6.00	6.00	3.00	3.00
Work Experience Fund	5.00	5.00	2.50	2.50
Cycle Fee	2.00	2.00	2.00	2.00
I.T.Fund	10.00	10.00	5.00	5.00
Total Monthly Fees	58.00	43.00	22.50	22.50

ii) X Class of Govt. Non Model Schools:

	General	Category	SC Category		
Name of the Fund	Boys	Girls	Boys	Girls	
Annualy Fees	in Rs.	in Rs.	in Rs.	in Rs.	
Excursion Fund	12.00	12.00	12.00	12.00	
Building Fund	15.00	15.00	15.00	15.00	
Sports Fund	7.00	7.00	7.00	7.00	
Stationery Fund	25.00	25.00	25.00	25.00	
Admission Fees	-		-	-	
TOTAL Annual Fee	59.00	59.00	59.00	59.00	
Monthly Fees					
Tution Fee	15.00	2	-	-	
Amalgmated Fund	12.00	12.00	6.00	6.00	
Red Cross Fund	2.00	2.00	1.00	1.00	
Child Welfare Fund	2.00	2.00	1.00	1.00	
Audio Vidual Fund	2.00	2.00	1.00	1.00	
Health Fund	2.00	2.00	1.00	1.00	
Science Fund	6.00	6.00	3.00	3.00	
Work Experience Fund	5.00	5.00	2.50	2.50	
Cycle Fee	2.00	2.00	2.00	2.00	
T.Fund	10.00	10.00	5.00	5.00	
otal Monthly Fees	58.00	43.00	22.50	22.50	

Fee and Funds for Classes XI and XII

1.	No Tuition fee is charged from girl students of both Model and Non	-Model Schools.
2.	SC/ST boys are also exempted from tuition fee.	
3.	Half of the funds wil be charged from SC/ST girls and boys.	
4.	Students are supposed to pay fees and funds at the rates prescri Education, Chandigarh Administration from time to time.	ibed by the Department of
5.	Normal Fees and Funds are as follows:	
(A)	Fee	
1.	Admission Fee	Rs. 25/
	(At the time of first admission to the school at the Senior Secondar	ry Stage)
2.	Re-Admission Fee	Rs. 17/-
3.	Late S.L.C. Fee	Rs. 1/-
4.	Tuition Fee (per month)	Rs. 50/-
	The second secon	
(B) Funds (Monthly)	
1.	Amalgamated Fund	Rs. 17/-
2.		Rs. 15/-
3.		Rs. 15/-
4.		Rs. 15/-
5.	D I STONE AND A 15/	
Ů.	Geography, Psychology, Computer Science	
6.		Rs. 17/-
7.		Rs. 3/-
8		Rs. 3/-
9		Rs. 3/-
	0. Cycle Fund	Rs.3/-
	Scooter/Moped Fund	Rs. 7/-
	Work Experience Fund/General Foundation	Rs.7/-
	Z. Homenparismos - III - I	

Fee and Funds for Class XI and XII

ministra		
13.	Child Welfare Fund	Rs. 7/-
14.	I.T. Fund	Rs. 25/- (Model Schools)
		Rs. 10/- (Non-Model Schools)
(A)	Annual Funds:	Manual Property Control Control
1.	Magazine Fund	Rs. 87/-
2.	Excursion Fund	Rs. 67/-
3.	Identity Card Fund (Excluding Photo)	Rs. 12/-
4.	Dilapidation Fund	Rs.25/-
5.	Library Security (Refundable)	Rs. 125/-
6.	Building Fund	Rs. 30/-
7.	Club/Societies Fund	Rs. 25/-
8.	Vocational Guidance Fund	Rs. 15/-
9.	Sports Fund	Rs.27/-
10.	Examination Fund/Stationery Fund	Rs. 50/-

After allotment of seats, Fees and Funds will be deposited by the candidates for six months i.e April to September, failing which allotment will be cancelled. The students are required to bring the fee as given below:-

	General Category Candidates		SC Candiates	
	Boys	Girls	Boys and Girls	
Candidates opting for Science Stream	Rs. 1500	Rs. 1200	Rs. 700/-	
Candidates opting for Commerce/Arts/Vocational	Rs. 1300/-	Rs. 1000/-	Rs. 600/-	

Note: Exact amount will be calculated by the school at the time of deposit of fee